Lattice multiplication

Use the lattice method to find the product of the foll winq expressi
63 x 49 32 x 45
80 x 57 76 x 92
59/ x 99 27 x 84
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Lattice multiplication
Use the lattice method to find the product of the following expressions.
63 x 49
et’s first of all draw a 2 by 2 grid and Secondly, we will write 2 multiplicants of the product to be
split upleach cell digonally calculated along the top and right sidelof the gri
4
/ / 9
Thirdly, let’s multiply the number that is on the top of each box with the number that is/to the
right of each box. Place the answer in the box, with the ones digits to the right of
he digonal and the tens digit tolthe left of the diagonal.
3 6 3
1
2 4 Ayar
4 2 fourthly, add the numbers in the boxes 3 . 2
/15 7 9 diagonally (carry into the next // 5 7 9
4 / collimn if there isla carryl over) 0 4 7
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Finally to get the product of 63 by 49, write the numbers from the top
eft to the bottom as shown below
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l o0y 4 / = 3,087
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A So, 63 x 49 = 3,087 i
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